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Aufgaben-Quickname: 7622

Aufgabe 1
Quick:
7622

Berechne.

a) 83 + 7 = 90 b) 17 + 3 = 20 c) 100− 7 = 93
d) 90− 2 = 88 e) 82 + 8 = 90 f) 5 + 5 = 10

Aufgabe 2
Quick:
7622

Berechne.

a) 55 + 5 = 60 b) 75 + 5 = 80 c) 77 + 7 = 84
d) 65 + 5 = 70 e) 75 + 5 = 80 f) 25 + 5 = 30
g) 75 + 5 = 80

Aufgabe 3
Quick:
7622

Berechne.

a) 60− 8 = 52 b) 30− 2 = 28 c) 30− 5 = 25
d) 70− 7 = 63 e) 20− 3 = 17 f) 50− 6 = 44
g) 80− 2 = 78 h) 50− 3 = 47

Aufgabe 4
Quick:
7622

Berechne.

a) 30− 6 = 24 b) 30− 2 = 28 c) 27 + 3 = 30
d) 80− 1 = 79 e) 10− 4 = 6 f) 60− 3 = 57

Viel Erfolg!

www.dw-aufgaben.de Seite 1 bsp-7622-1/NPJV


